A AL JE T+ =LA PR 7

Hebei Zhaosheng Hydraulic Machinery Co.,Ltd

2 E ¥ m

Hydraulic Steering Control Unit

Al -

HEBEI NINGJIN




APPLICATION
PRODUCTS

=R

AEEFNEEFERATZEATY LER TR, EEEhgs. ERAeNH. A
MR Y. ARAE IR, AR, BT, BRI, MREREE. KlMRLm, 79
M. BRIREFNTIETE. BEN. HHRER, BLEHI. TEN. KIMEAN. 5E
MMERHIMEREEH RGP, FER TEENMBEMRRS., RAKRE. SEHWI.
E M N IRHE SR FTEVMEIKE,




All kinds of products manufactured by the Company can be widely applied in the hydraulic drive systems
of mine construction machinery,cranes and transporting equipment,heavy-type metallurgic machinery,petroel
eum and coal mine machinery,vessel deck machinery,machine tools,light industry,plastic machinery,geological
drilling equipment,agricultural and forest machinery,mineral equipment,construction equipment and working
platform,lawn mowers,special vehicles,fishery winches,machine tools,carpenter machinery and sawing
machines,and rubber machinery,These products are especially applicabie to screw drives of plastics injection
machines,the drives of lifting winches and winding drums,and driving tracks of rotating mechanisms and the
drive of wheel traveling mechanisms.




ATEA Lo

FLALRTHRIEYURABLZ )

TLLT
BBIT19001.2008 idt 1S09001:2008
QLN RS AL

WIETFEANME. RARE SN0y

i ws

oF e Q) @;}I e \‘i::
<1 < 3 =4 [ i 7h > Y
BRESBKAINIEIES QUALITY MANAGEMENT SYSTEM :

CERTIFICATE

AR FHRENHERAT, EEWAEFBMAIIZERED L. BZZE& K ER A
|, FKEARRERETHHEL, FRIZATIRNME. 8 L. A&, A
A AL, B, Rl EE TS,

RARMESAMNEEREHANESTE, HELHEEERIBHAAR, #
BEACHMER, NEENERANERRIEFREE. MRT LR, BEiRHt,
NEBHEMT ., EWRENEZ=RE, - EBATENTRRERIEER, RN
HERE. FRONE. ARNRSRZERM NS, 28FF2013EIRFE
131S09001:2008/RE EE A R IAIE

ARRMT “EEEZ_ARITE" A - TF - KB RITH, XEAA#MR,
TEEF, GEEEOYREENMNTER,

AFZEEE 75: WEEL, BAAE;
Fik: REE—, REED;
BH: BEEWR, KEKE.

kb H AR 185 8] & 4o 18 K AR

at

COMPANY PROFILE

Hebei zhaosheng Hydraulic Machinery Co.,Ltd is specialized in the production of BZZ
Hydraulic Steering Control Unit, FK combined valve block and BM series cycloid hydraulic
motor, hydraulic components, covering the industry, agriculture, transportation,energy,
construction, vehicle, marine, mining, metallurgical, aerospace, and other fields important
for national economic development.

Hebei ZhaoSheng has strong capability of machining,metal material molding and overall
coordination which provide comprehensive security for hydraulic system production. With
years of development, Hebei ZhaoSheng has a team of more than 40 employees. The
contingent is a younger, better educated, quality, efficient and vibrant team, three—quarters
of which are professional technicians of various specialties. Our well-equipped facilities
and excellent quality control throughout all stages of production enables us to guarantee
tota customer satisfaction. With excellent quality,reasonable price and integrated trade
service , our products are greatly appreciated home and abroad.

Beyond that, we have been certified by ISO9001Quality Management System in 2013.

Hebei Zhaosheng Hydraulic Machinery Co., Ltd. Is located in "the second national
agricultural machinery market," Ningjin County Dalu Town agricultural machinery market,
which provides us talent employees, convenient transportation access and a strong base
of machinery production and processing.

Keeping the core values of "Quality is the eternal subject and the customer is the
eternal God", We are stick to the high quality products as live, technologies as development.
Adhering to the philosophy of " To persevere and to excel ", we provides with first-class
credibility the first—class products and services to our clients.




S

JE It

Zhaosheng Hydraulic

E i CONTENTS

EREEEHRT MRk g
General Description for SCU

S10fR/E R 53[0 25 6
S10 Standard Series SCU

S20{k % 5S25 B (K E 25 9
S20 series —— Low Input Torque Series & S25 Ultra

Low Input Torque series

SI0KH=E R [EIES 12
S30 Large Displacement Series SCU

S4A5TREMART &
S45 series— Flow Amplifying Series

S50/MHEE R 17
S50 series ———Small Displacement Series

S60E (kX 2751 19
S60 series Integral Series

FK/IFKS Z24& 1R 2
FK&FKS Combination Valve Blocks

FLD B E&FAE i i 28
Flow divider valves

YXLZR S SERE il 1 &
YXL series priority valves

o) 4E 33
Steering Columns

NE A m—R&RIEDE 35

Our other products——Orbital Hydraulic Motor

www.zs-hyd.com

>> 01



BZZZ 3 & RIEH¥ =

E ik ER F R~ miRik

General Description for SCU >>>

® S10%%1: S10 series
—tRAERT
Standard Series
-BiE: . ASMAE LRk
Include: Open Center. Closed
Center and Load Sensing Style
-HEE: 80~ 500 ml/r
Displacement: 80 ~ 500 ml/r

© S45%3%|: S45 series
—REMK R EERT
Flow Amplifying and Load Sensing Series
- #EE. 630. 800. 1000 . 1250mi/r
Displacement:630. 800. 1000. 1250mi/r

® S50%7%1: S50 series
—INHEEEY
Small Displacement Series
-BIEFS A, Rk
Include: Open Center. Closed Center

and Load Sensing Style

~HEE. 50. 63ml/r
Displacement:50, 63 mi/r

® S20%7%l: S20 series
— R AN HEF SRS
Low Input torque and
Open Center Series
- HEE. 80 ~500 ml/r
Displacement: 80 ~ 500 ml/r

® S60%7%!: S60 series
-BAERRT

® S30%&7%: S30 series ‘ Integral Series
-KHERTI ~BFEFR. A, ek
Large Displacement Series Include: Open Center. Closed
BRI, fRErfER Center and Load Sensing Style
Include: Open Center and —HEE. 50 ~500ml/r
Load Sensing Style Displacement:50 ~ 500ml/r

—HEE. 630. 800. 1000 mi/r
Displacement: 630. 800. 1000 ml/r

02 << www.zs—-hyd.com



S

EHBE

Zhaosheng Hydraulic

AR IERE ) RS >>

O FREE AL
Open Center Steering System
¥ mas AL T RS, Rl H#EE=sA TR,
R AL RN EPE i EhE.
In the neutral position, the oil from pump returns
to tank through the SCU.
RE—MRXAEERMH.

Normally uses a fixed displacement pump.

0 ASEE RS

Closed center steering system

H¥mar P A TRERZS (S ) , Bl%%Em
A LR, REMEERRELL, EFasmtAQR
FRENES.

In the neutral position, the oil from pump
is disconnected by the SCU. There is a high
pressure in the inlet of the SCU.

REXAENMEZER M,

A pressure compensation pump is necessary.

FTEN BT EHEARBETENM.

It is usually used on heavier vehicles.

T — |

A&

LT

T I
7|

=
L

p

|

=y
_l

'

MRS

|

www.zs—hyd.com

>> 03



BZZZ 5 £k £ 075

04 <<

AR IERE R R R >>

AEERER RS (FHE&ES)
Load sensing steering system

MEEREERFHRE. LER. REERE
e, FEENARE. RERAREAN.

This system is fixed by pump, priority valve,
load sensing SCU, steering relief valve and
system relief valve.

TUXAEER, ENHMEEER,
ENREBMEZRER, THEERNHT TELDE
(EF)AAXBALERS; FAENREMEEER
B, EFRBARERRFHAEERSLR,

Pump

=
7K

The system can adopt a fixed
displacement pump, pressure compensated pump
or pressure and flow compensated pump. When
a fixed displacement pump is used, the auxiliary
circuit must be open center. When a pressure
and flow compensated pump is used, the auxiliary
circuit must be load sensing or closed center.

MEB—RERDITFHEERARAEENR,
DFRIERLERE; &NEHENBTRIEE ER
=,

BN ESEERERBSESIER.

Priority Valve ——he priority valve must be
matched with the max. flow of the pump and
priority flow requirement of the SCU. The Min.
control pressure must assure adequate steering
flow rate.

Static signal SCU must be matched with static

signal priority valve.

LSE—LSERE KRB E =AM TR
AMEDESEHRERER, BE/NTF2X,

LS Pilot Line ——The Ls pilot line is used to
pass the pressure signal from SCU to priority valve.
The length of the LS pilot line is no more than two
meters.

www.zs—hyd.com

|

I o
|
| |
| A §
\

O O )
\
TS
‘ o]

A T

BB M TfLA: Advantage

¥EuE—kaEEHRRARE, Al
6] o] §E

Reliable Steering——~Provides reliable steering
because the steering circuit always has flow priority.

TR
%, RGTEE.

Save Ergy——In the neural position of SCU,
only a little oil flows back to the tank. So the system
saves energy.

HeRPANRIAEROREBIE



EFHBE

Zhaosheng Hydraulic

S

BRI ) iR R %% 6] R4 > >

173

REMKAREREERRE .

g

. . T
Flow Amplifying Load Sensing : TR —
Steering System e = =l ey e g
g oy [ ﬁl T |
% Features e . ey _A_,I_A_,.‘
oEEHEETEENRERL, RERE ‘ ‘
MARINEE :
The displacement will be changeable with the | |
steering speed. It has flow amplifying ability. \
\ |

FRIHEMEE, (EAEFRENERNIEN, %@
AE, |
The effective displacement is the same \

\
o EEMBE(AFI0PM), #MARSES L\w = % 3 > \

volume of Gerolor displacement at the low |
steering speed (less than 10rpm).

N _ L=
O FEEREEEI0~40romSEER, HEHEE X |
B A T @ : - j |
The effective displacement is increasingly | / - l
with the steering speed varies from 10 to 40rpm. o el i 5 e 5 i e e ¢
é’ P
® FEEHRAT40rpmet, BEHESRE =y
HE AR, -
The effective displacement is basic the same
volume with the design displacement when the ‘ é% QD:% ‘

speed is more than 40rpm.

o 5EHEREE SRELL, BEFEARN, &
BR, REARTENLS.

To be compared with the standard SCU of
the same displacement, it is compact volume and
light weight, convenient mounting.

www.zs-hyd.com >> 05



BZZZ 3 & RIE¥ H =

S10%7 it Z 5% 5 35

S10 Standard Series SCU >>

S1I0RJZ2HRAERITNEESE, FFEMN
80 ~ 500ml/r,

RIBE B o] H S EFK/FKSEE B, #HE&f

FENATFHERY. REREN. REVMEE
BAEHEW,

It is a standard design.lts displacement is 80 to
500ml/r.

It can be connected with valve block directly to
fulfill all kind of system.

Typical applications are tractors,combines,lift

trucks,wheel loaders and other heavy vehicles.

425 Features FTEHEESH
; 5 i 855 A0 A Main Specification Data

o RAAIRBIEIRIGIT, MAEMH P

The design of valve with optimum gains better B ANOES v 16MPa

characteristics. Max. system pressure
O RRERE
= N = | =3
Low hydraulic noise ARG R eevveenveneeees 2.1MPa

Max. back pressure
OB RNBERIT, EABK/N

Special casting design for low pressure drop

%Ilﬂjjﬁﬁ ..................... 2.8~4.0
O =FhEARKR, FE. HSFRAEER Nminput torque
3 basic systemsopen center, closed center
and load sensing B RGEE e 93°C

Max.systemoperating emperature

TE%/EE/E/%EE ............ ISO 18/13
Recommended oil filtration

06 << www.zs-hyd.com



EHBE

Zhaosheng Hydraulic

S

S10&R 5 SM BRIz R ~T

S10 series Dimension and Mounting Data >>>

4-M2081. 5 L Sufirferiin

W25 % 10 4106 5)
7 16\
/ﬁ%\ @7/‘\ & g
=) | D }
% AR - N
i Va
[ Pl
i NE0.)
9.540.1 37 4410.2
L
19.5;:60.1 31i251 5 (B30
] m L | WAL B
W 12
gikn 2| (2] ] J fikn 2|5l5 | |- W}) N i fgtsz
GIE0 2| 4 & RIEA 2 515 | | 22 T i feti /
EEL SRR = wRENR g3 —% AR ¢10.09
e v # SMRETR] #20.66350.038

HE (l/r) [ 80 100 | 125 | 160 | 200 | 250 | 315 | 400 | 500
KE (1) 1415 | 144 | 147 | 150 | 157 | 163 | 173 | 183 | 199

www.zs-hyd.com >> 07



BZZR3 £k E¥m ==

ITEER

S10 series ordering Information >>

Order example:S10-1101

7= A HEE/RS
By | KE ]| 80 100 125 160 200 250 280 315 400 500
&|iEn S$10-1101 | -1102 | -1108 | -1104 | -1105 | -1106 | -1100 | -1107 | -1108 | -1109

F | KIEA M20X1.5 S$10-1201 | -1202 | -1203 | -1204 | -1205 | -1206 | -1200 | -1207 | -1208 | -1209

WL S10-1301 | -1302 | -1303 | -1304 | -1305 | -1306 | —-1300 | -1307 | -1308 | -1309

g1tn S10-3101 | -3102 | -3103 | -3104 | -3105 | -3106

A | KA M20X1.5 S$10-3201 | -3202 | -3203 | -3204 | -3205 | -3206

P S10-3301 | -3302 | -3303 | -3304 | -3305 | -3306

|ikn S10-5101 | -5102 | -5103 | -5104 | -5105 | -5106 | -5100 | -5107 | -5108 | -5109

M20X1.5 S$10-5201 | -5202 | -5203 | -5204 | -5205 | -5206 | -5200 | -5207 | -5208 | -5209

aF =R
=t
)
=
jm}

bz S10-5301 | -5302 | -5303 | -5304 | -5305 | -5306 | -5300 | -5307 | -5308 | -5309
Sitn S10-1121 | -1122 | -1123 | -1124 | -1125 | -1126 | -1120 | -1127 | -1128 | -1129
M20X1.5
Fs | KikO ®OZE | S10-1221 | -1222 | -1223 | -1224 | -1225 | -1226 | -1220 | -1227 | -1228 | -1229
(922.5)
g% S10-1321 | -1322 | -1323 | 1324 | -1325 | -1326 | -1320 | -1327 | -1328 | —1329
&mitn $10-3161 | -3162 | -3163 | -3164 | -3165 | —-3166
M20X1.5
A | KA #O®mE | S10-3261 | -3262 | -3263 | -3264 | -3265 | -3266
($21.8)
AR S10-3361 | -3362 | -3363 | -3364 | -3365 | -3366
&N S10-5141 | -5142 | -5143 | -5144 | -5145 | -5146 | -5140 | -5147 | -5148 | -5149

ik
%g Kib[ M22X1.5 S10-5241 | -5242 | -5243 | -5244 | -5245 | -5246 | -5240 | -5247 | -5248 | -5249

Iakia: S10-5341 | -5342 | -5343 | -5344 | -5345 | -5346 | -5340 | -5347 | -5348 | -5349
"o S10-1111 | =1112 | 1118 | -1114 | 1116 | -1116 | -1110 | 1117 | -1118 | -1119
T KiEA G1/2’ S10-1211 | -1212 | -1213 | -1214 | 1216 | -1216 | -1210 | -1217 | -1218 | -1219
IkiZ S$10-1811 | -1312 | 1313 | -1314 | -1315 | -1316 | -1310 | 1317 | -1318 | -1319
&|ikn $10-1131 | -1132 | -1133 | -1134 | 1135 | -1136 | -1130 | -1137 | -1138 | -1139
Fi& | KR 3%_[}%2;": S10-1231 | -1232 | 1238 | -1234 | -1235 | 1236 | -1230 | -1237 | -1238 | -1239
piZ e S10-1331 | -1332 | -1333 | -1334 | -1335 | -1336 | -1330 | -1337 | -1338 | -1339

08 << www.zs-hyd.com



EHBE

Zhaosheng Hydraulic

S

S20{R A % 5 S258 8 (K1 2 51

S20 series —— Low Input Torque Series & S25 Ultra
Low Input Torque series >>>

S20. S25&RF|#m=sES10R T M EAtH —
SR, FERTXEFRBMAIEN.

Many progress of design were taken in
S20and S25 series SCU. It is typical used in
forklift, hydraulic rudder of ships.

45 Features
© K& m A%

The design of valve with optimum
gains better characteristics.

O RRERE
Low hydraulic noise Eg’[’}tﬁ'ﬁ%%ﬁ
O BN SRS Main Specification Data
Low wheel slip BAALEF - eoveeeroveres 16MPa
e FERBERTT, EHBEK/N Max, system pressure
Special casting design for low
pressure drop RAREGE R e 2.1MPa

) Max. back pressure
OEARE, X

Basic systems open center B 4G 1 AR e 1.8-2 5Nm

low input torque
2 B{RHAER-1.1-1.8Nm
Ultra low Input torque

%%%iﬁiﬂfg ............... 93° C
Max. system operating temperature

W RRIBEE ISO 18/13
Recommended oil filtration

www.zs—hyd.com >> 09




BZZZ 3 & RIEH m =

S208S25 £ I Mz BR i R ~F

Dimension and Mounting Data >>

4-)2051. 5

4-N10-68 )
& 16
Ve /)V\
(AN By it
o W U
| Dold
an : la
| \FolY) N
16 2210.2
19.5+0.1 37 44%0.2
L
0. 310.1 ’
L 5160 ‘ : : 313 &
- 18 24 &AL S
W 12
i 2 S e 2| “% ’ \“ -t
HEH 2l sl 2 KA Z| == 7 SN o I (Sl
ME <4 YW T4t EERE _%; SRR o105
vz Zz2222] < DNEE ] ¢ 20.66320.038

TR (wl/n) [ 80 100 | 125 | 160 | 200 | 250 | 315 | 400 | 300
KE (1) 141.5 | 144 | 147 | 150 | 157 | 1e3 | 173 | 183 | 195

10 << www.zs-hyd.com



@“" It

Zhaosheng Hydraulic

ITRER

Ordering Information >>

So5—**** L FB{KIALE §§|J§§ﬁ%§ Order example: S20-1101

order code of Ultra low input torque series is S25—**** S20=1101
7= BAHE HE/%S

B | B o 80 100 125 160 200 250 280 315 400 500
RIEE Ss20-1171 | -1172 | 1178 | -1174 | -1176 | -1176 | -1170 | -1177 | -1178 | —-1179

%ﬁflct\\ﬁ ¥ikn M18X1.5 S20-1271 | 1272 | 1273 | -1274 | -1275 | -1276 | -1270 | -1277 | -1278 | -1279
apid:S s20-1371 | -1372 | -1373 | -1374 | -1375 | -1376 | -1370 | -1377 | -1378 | -1379
&N s20-1101 | -1102 | -1103 | -1104 | -1105 | -1106 | -1100 | -1107 | -1108 | -1109

%}'\L};\? KA M20X1.5 | S20-1201 | -1202 | -1203 | -1204 | -1205 | -1206 | -1200 | -1207 | -1208 | -1209

gz S20-1301 | -1302 | -1303 | -1304 | -1305 | -1306 | -1300 | -1307 | -1308 | —1309
Ei1kn S20-5101 | -5102 | -5103 | -5104 | -5105 | -5106 | -5100 | -5107 | -5108 | -5109
f‘%g ¥iEO | M20X15 | S20-5201 | -5202 | -5203 | -5204 | -5205 | -5206 | -5200 | -5207 | -5208 | -5209
pia: $20-5301 | -5302 | -5303 | -5304 | -5305 | -5306 | -5300 | -5307 | -5308 | -5309
gikA $20-1111 | =112 | =113 | =1114 | -1115 | -1116 | -1110 | -1117 | 1118 | -1119
e KiEQ G1/2’ S20-1211 | =1212 | -1213 | -1214 | -1215 | -1216 | -1210 | -1217 | 1218 | -1219
RN
ki S20-1311 | -1312 | -1313 | -1314 | -1315 | -1316 | —-1310 | -1317 | -1318 | -1319
Eikn S20-1121 | -1122 | —1123 | -1124 | -1125 | -1126 | —-1120 | -1127 | -1128 | —-1129
s M20X1.5
S| Kibm | #nO@mE | Ss20-1221 | —1222 | -1223 | -1224 | 1225 | —1226 | -1220 | -1227 | -1228 | —-1229
xRS (6225)
ki S20-1321 | -1322 | -1323 | -1324 | -1325 | -1326 | -1320 | -1327 | -1328 | —-1329
&N S20-1161 | -1162 | -1163 | -1164 | -1165 | -1166 | -1160 | -1167 | -1168 | -1169
i M20X1.5
| RiED | %OmE | S20-1261 | 1262 | —1263 | —1264 | -1265 | -1266 | —1260 | —1267 | -1268 | -1269
ERE (021.8)
ki S20-1361 | -1362 | -1363 | -1364 | -1365 | —1366 | —1360 | -1367 | -1368 | —1369
Zikn S20-5131 | -5132 | -5133 | -5134 | -5135 | -5136 | -5130 | -5137 | -5138 | -5139
3/4-16 &

ﬁlg KikQ 7/16-20 S§20-5231 | -b232 | -5233 | -5234 | -5235 | -5236 | -5230 | -5237 | -5238 | -5239

WAL S20-5331 | -5332 | -5333 | -5334 | -5335 | -5336 | -5330 | -5337 | -5338 | -5339

g1tn S20-1151 | -1162 | -1168 | -11564 | -1166 | -1166 | -1150 | -1157 | -1158 | -1159

%}I\U& KI1EO | 3/4-16UNF | S20-1251 | -12562 | 1253 | -1254 | -1255 | -1256 | -1250 | -1257 | -1258 | -1259

pigscd S20-1351 | -1352 | -1353 | —-1354 | —-1355 | -1356 | —-1350 | -1357 | —1358 | -1359

025& 5| Mz~ mAm S 5S20 R 5 M54 S HE

www.zs-hyd.com >>

11




BZZZ 3 & RIE¥ =

S30AHEE R 5% (o)==

S30 Large Displacement Series SCU >>

S30RFEEFE—MARHERI R ER M
2, HeE4H. 630. 800. 1000mlr, FEAFK
BT =Y.

S30 series SCU is a large displacement SCU.
The displacement includes: 630. 800. 1000 ml/r. It

is typical used in heavier engineering vehicles.

4545 Features
o AL IREERIRLT, MeELE

The optimum design of spool and sleeve
gains better characteristics.

O R ERE
Low hydraulic noise

OFERBERTT, EARK/N

Special casting design for low pressure

drop FEMESH
e " Main Specification Data
OTRMBARL, FERAHER P
? basic systems_ open center and load A NI E S eeevereeenes 16MPa
sensing

Max.system pressure

%kﬁgﬁ%& ............... 2 1MPa
Max. back pressure

yq:['ﬂjjﬁg ..................... 28 ~4.0Nm
Input to rque

%%— ,%’:\Z?E,;E'LE ............... 93°C
Max.system operating temperature

R A oo SO 18/13
Recommended oil filtration

12 << www.zs-hyd.com



IE F it B

Zhaosheng Hydraulic

S

S30 &5 4p Bk R ~F

S30 Dimension and Mounting Data >>_

o\ 1§ SRl
2-M12 7 MI2X1.5 ¥ 10
@4 AR _j
LY U/ I=
AM BA = =
o = =
————————— TITH =3 T T T e E
TEI PE = = I=
() Van) (> &
7T -
K\/ U H
22%0.2
31 44102
L
19.5%0.1 4 MIO 6H
16 =M1U-
] R 16 it
G é )< i‘ﬂ L
a i=
31£0.1
25
18
p TR
kﬂ:ﬂ %. §§ ___F/
SR B
15 (A% Lip 120
- JENf 30
1.4 Gl 16/32
N\ TEHER $19.05
VAR $20.663%0.038
SR S S % R o0 1 60 ] 800 ] 1000
) @V Rt 1 15 1 135 | 259

www.zs-hyd.com >> 13



BZZZ 3 & RIEH m =

TSHER

S30 Ordering Information >>

Order example:S30-1181

= SR E HE2/HRS
il B i 630 800 1000
Fmiko S30-1181 -1182 -1183
N SO CHRLL S30-1281 -1282 -1283
it RTER S30-1381 -1382 -1383
AL mikn S30-1131 -1132 -1133
3/4-16UNF
K1t WO S80-1231 —1232 -1233
MR S30-1331 -1332 -1333
y oAl | S30-5181 -5182 -5183
rfes Kitn SO0 EBL $30-1281 5282 5283
AR S30-1381 -5382 -5383

14 << www.zs-hyd.com




EHBE

Zhaosheng Hydraulic

S

S5 EMA &5

S45 series—— Flow Amplifying Series >>-

SA5R T E R — TR EN A B SR ERK .
REHEEEN, H#ENFERE; REEDNEFRK

HE5 k. 630, 800, 1000, 1250 mi/r, EERF
RE TR

S45 series SCU is a flow amplifying SCU.

It has small displacement and low input torque at the
low steering speed. At the quick steering speed, it has a
large displacement.

The displacement includes: 630.800.1000.1250ml/r.
It is typical used in heavier engineering vehicles.

4% Features
O AL HIE IR, MR

The optimum design of spool and sleeve gains
better characteristics

O RERE

Low hydraulic noise

O HBERRBERTT, EARKN

Special casting design for low pressure drop

O EARKR, NEERE
Basic system load sensing

FEMERESH
Main Specification Data

B ANDOE S oeeeeeeeenees 16MPa
Max. system pressure

%kﬁﬁ%& ............... 2 1MPa
Max. back pressure

;grgjjjgﬁ ..................... 28 ~4.0NmM
Input torque

BERGSEE e 93° C
Max. system operating temperature

T’E%/Hﬂﬁ%?%fg ............ 1ISO 18/13
Recommended oil filtration

www.zs-hyd.com >> 15




BZZZ 3 & RIE¥ =

SA5 & S SM Iz BRI R ~T

S45 dimension and Mounting Data >>

= 10 MI28L.S

Z—MIZ 4-N10-68 5)
/ B0 y—E_ _ 7 16/;(1\\ -
£ 8é
@“‘/\\ = &
— N\JN _j |
i | R E { D&
= -q
el | -
- yany
3 J I= \Y
) 2210.) —
Ili%? 40 4410.2 588120'2

i
mpt ST i L L 1
N i S Bkm [ 195 161 9
sl Eh L Kibn | 31025 | 18
Wigmie = 4 {4 16/31
23 HHER] 019.05
SNRER] ¢20.663£0.038 HE frml/o) 630 | 800 11000 | 1250
—@ Rspr (mm) | 178 | 188 | 198 | 210
T 4L /=
-LT,J'_'s1E E
Ordering Information >> Order example:S45-5181
7= R HEE/RS
il ks B bl T A 630 800 1000 1250
lianl S45-5181 5182 -5183 -5184
¥itO TR M12X1.5 | S45-5281 _5282 -5283 -5284
ﬁjﬁ{?'—” P S45-5381 -5382 -5383 -5384
MEHK =lidnl S45-5191 5192 -5193 -5194
Kikn g '\’82?“'5 S45-5001 |  —5202 5203 5294
ring
SR S45-5391 -5392 -5393 -5394

16 << www.zs-hyd.com



EFHBE

Zhaosheng Hydraulic

S

S50/h©E= %71

S50 series ———Small Displacement Series >>

SE0R I m =2 — /AR RN E R R,

HE8#E. 50. 63ml/ro TEAF/NEIRE
W, NEUERA . EIMEERE,

S50 series SCU is a small displacement SCU.

The displacement includes: 50.63ml/r. It is
typical used in mini engineering vehicles, such as
small tractor.

455 Features
O LRI HIER IR, MREMLHE

The optimum design of spool and sleeve gains
better characteristics

O NRERE

Low hydraulic noise

o BB RRBERT, EABKN

Special casting design for low pressure drop & q
FEMEESH

O EARKR, FEHE
Basic system _ open center

Main Specification Data

%j(]\ﬂ}fj] ............... 16MPa
Max. system pressure

%j(ﬁﬁi%fi— ............... 2 1MPa
Max. back pressure

é‘grﬁljjfﬁ ..................... 1.7 ~2.5Nm

Input torque

B RGEE e 93° C
Max. system operating temperature

?ET_F-TT':‘;EH &,%5{5&" ............ 1SO 1 8/1 3
Recommended oil filtration

www.zs-hyd.com >> 17



BZZZ 3 & RIEH H =

S50& FISMEEREE R ~T

S50 Dimension and order information

o LS SfifRhn
i NI2KLS % 10

P>

4-M10-68
* 16

688

K

19.5%0.] 31400 15 (5%
16 2 1.3 -
9] 1s - B YA vt
\ W5 12
RERIES RIS £ HEAf 30
HERL |25 |+ 122 EZ_"“%‘ i 16732
= CTelL bl NN ° TR 919.05
LKL < @7 SER $20.663£0.038
KR Kl WLt
| flFi (al/r) | 50 I 03 l
[ R m 1395|1415 |

\ e
nl 15 G

Ordering Information >>

Order example:S50-1101

7= R FHE HE/RS

il BEix plicm| 50 63
SHlan S50-1101 -1102
KO M20X1.5 S50-1201 -1202
FFiss NILE S50-1301 -1302
TR cian| S50-1111 -1112
KiEO G1/2’ S50-1211 =i
NI S50—1211 -1312
peilan! S50-5101 -5102
K1EQ M20X1.5 S50-5201 -5202
PAREREZR: gz S50-5301 -5302
SElan| S50-5111 -5112
¥ikO G1/2’ S50-5211 -5212
NILiE S50-5311 -5312

18 << www.zs-hyd.com




EFHBE

Zhaosheng Hydraulic

S

S60EFT R 5

S60 series—Integral Series >>

S60RFIEmBEHAHLMASRINENEBEAL L
REEER, BRETAARER. REBANERERE
w. ZMRFKShE. FLEMEE. RETE,

S60 series SCU incorporated the inlet check valve,
safety valve, internal check valve, cylinder port shock
valve and anti— cavitation valve. The design is more
compact and convenient.

4545 Features

ORAERBNENASRKZIT, FMEE. &
KXHE,

Incorporated five Valves into the SCU, so it is
more compact and convenient

O RRERE
Low hydraulic noise

OHFIERBERTT, EAHREKN

ZHEBESH
Special casting design for low pressure drop Main Specification Data

O TEFEL. A, LRk E
3 basic systems open center, closed center and

AN E S erercenreness 16MPa
Max. system pressure

load sensing
O HEESEE . 50~500ml/r BAELEAS oo 2 1MPa
Displacement: 50~500ml/r Max. back pressure

?Fﬁrﬂjjﬁﬁ ..................... 1.7 ~2.5Nm

Input torque

B RGEE eeeeenes 93° C
Max. system operating temperature

WEHREER e ISO 18/13
Recommended oil filtration

www.zs-hyd.com >> 19



BZZZ 3 & RIE¥ =

S60% F1 Sz BRI R ~F

S60 Dimension and Mounting Data>

1§ SrE R
MI2KL.5 B 10

4-20%1. 5
1)

/|

44

944,40

uiisitiguig

$88

LS T Ait

51

49

82
38

BERARE  15m

Hew (nl/r) | 0 03 80 125 160 | 200 | 250 | 315 | 400 | 500
KE (1) 130.5 | 132.5 | 132.5 138 143 148 154 164 174 | 186
HEREIThEE Function of the incorporated valve

OANORER: REE@F[POSTAZ
BRNRARENE, RPHEEE.,

O EFHIE: RIFBTHEEAL~%E
(9 S EL 7o o X B B AN S L ©) B = AR YRR

O X @ H i B5 I REL R T E A &
REFENREMMERARTIAR.

OANOE[E: S hiIENRETE
NETERNAE R~ EX 77 1E
v,

O ANNEEBEER. BEEREANE
ELURZSHR AN NEE RS

20 << www.zs-hyd.com

Inlet safety valve: limits maximum pressure drop
across the SCU to protect the steering circuit.

Cylinder port shock valve: protects hoses
against pressure surge created by ground forces on
the cylinder axle.

Anti—cavitation valve: protects steering circuit
against vacuum (cavitation) conditions

Inlet check valve: prevents oil from returning
through the SCU when pressure on the cylinder side
is greater than the inlet side. It prevents steering
wheel kick.

Internal check valve: converts the SCU to a hand
operated pump for limited manual steering.



S

EFHBE

Zhaosheng Hydraulic

Taf-l:. —
I=Il|_.\
S60 order information——Incorporated valve code >>
SBE0—**x**_**
HERINEERRD
I g AL
AR R
N 2ml/r
WOME | RG Fr kol
BB il 80 100 125 160 200 250 315 400 500
T
ERpt | S60-1301 | ~1302 | -1303 | -1304 | -1305 | -1306 | -1307 | -1308 | -1309
SHOM20X1.5 —
SrpsEy | W r'; X S60-3301 | -3302 | -3303 | -3304 | -3305 | -3306
M10X1.5 T
plicim:P3r e
M12X1.75
AEERAE | ARERE
OBy | EAES | S60-5301 | -5302 | -5303 | -5304 | -5305 | -5306 | -5307 | -5308 | -5309
M12X1.5 TR
pikEREZ=
MAES | S60-7301 | -7302 | -7303 | -7304 | -7305 | -7306 | -7307 | -7308 | -7309
TR
FFs
ERp | S60-1811 | 1312 | 1313 | 1314 | 1315 | -1316 | -1317 | -1318 | -1319
HAG1/2 —
SRR IRLY WS | se0-3311 | -3312 | 3313 | -3314 | -3315 | -3316
M10X1.5 TRy
plisimi:ee ¥y
M12X1.75
ARERAE | ARfRRE
OBy | BS{ES | S60-5311 | -5312 | -5313 | -5314 | -5315 | -5316 | -5317 | -5318 | -5319
M12X1.5 TR
T E R
MAES | S60-7311 | -7312 | -7313 | -7314 | -7315 | -7316 | -7317 | -7318 | -7319
TRER

www.zs—hyd.com

>> 21



BZZZ 3 & RIEH m =

s - | S60-1821 | -1822 | =823 | 1324 | 1325 [ —1326 | -1327 [ -1328 | 1329
; TR
JH A M20X1.5
A&

ARy | S ] ] ] _ ] ]
M10X1 5 ERRR S60-3321 3322 3323 3324 3325 3326

i A BRGR 4R LT

Mi2x175 | ek
cisfemE | BASES | S60-5321 | -5322 | 5323 | 5324 | -5325 | -5326 | -5327 | -5328 | -5329
oy | TRER

M12X1.5 iR

MAMES | S60-7321 | -7322 | 7323 | -7324 | 7325 | 7326 | -7327 | -7328 | 7329
TR
T
. | s60-1331 | —1332 | 1333 | -1334 | -1335 | 1336 | 1337 | -1338 | -1339
wng/a-te | FRAR
#OEH
HEZEREERL il
"S8.16 | mpma | S00-3391 | 332 | 0333 | -0334 | -0335 | -8336
i DB R IR LY

3/8—-24UNF AR

ﬁﬁ'ﬁ'f?!ﬁ%ﬁ\! BAES S60-5331 -5332 -5333 -5334 -5335 -5336 -5337 —-5338 —-5339
T fer 484 ERET

7/16-20
wOZmE Tty ek
HSES | S60-7331 | -7332 | -7333 | -7334 | -7335 | -7336 | -7337 | -7338 | -7339
ERFEH

T

ERGR | SEO-1411 | 1412 | 1413 | 1414 | 1415 | 1416 | 1417 | 1418 | 1419

HOG1/2

EZBRERLY I X . . N - -
i = FRms | S60-3411 | -3412 | -3413 | -3414 | -3415 | -3416

i DR R IREL

M10x1 JU
nEfen | AEEE
AR O e BNES | S60-5411 | -5412 | -5413 | -5414 | -5415 | -5416 | -5417 | —-5418 | -5419

Mi2xis | EREER

PR
HEES | S60-7411 | -7412 | -7413 | -7414 | -7415 | -7416 | -7417 | -7418 | -7419
EREK

5&']61/2 ﬁ%{%ﬁ&
AZBRERE BANES | S60-5421 | —5422 | —5423 | -5424 | -5425 | -5426 | -5427 | -5428 | -5429

M10X1.5 52
OBty | CRER

M10x1 o
npgn | AEER
AT O IR MAES | S60-7421 | —7422 | —7423 | 7424 | —7425 | —7426 | -7427 | -7428 | -7429

Gija-19 | ERRI

22 << www.zs-hyd.com



S

EHBE

Zhaosheng Hydraulic

S62% 7

S62 series >>

S O FOEE e HEEmI/r S O FUBE R4 HEEm/r
JEIRLY Ll 50 63 1By il 50 63
A , FFls
ERBst | 562-1301 -1302 ,gaﬁus/%;e ERpst | 562-1331 -1332
igﬂl\ggg*; i $62-3301 -3302 AZBIERE S S62-3331 -3332
Mioxis | ERER 3/8-16 TR
plismp:oSe ¥y AR plicm:e S 30 PR
M12X1.75 T fer e /R ) ek 2
AR E BASfES | S62-5301 -5302 ?%ﬁf;;ﬁf BSES | S62-5331 -5332
fmnegy | ERER AFIEEE | ERER
MA2X1.5 R R
’ piREREZ=3 7/16-20 piREREZR
HHES | $62-7301 -7302 M FHHES | S62-7331 -7332
TR RN
FFs FFits
ERBsL | S62-1311 1312 ERpst | S62-1411 -1412
e HAG1/2 .
HEAG1/2 Zig _ _ thaihs 2 . B
S e | mRa $62-3311 3312 kAL Lok im sy EERst | 562-3411 3412
M10X1.5 MR S
H O BR R 924y RS R H O BRZEI2 4, M
MI2X176 | #4158 | se2-5311 | 6312 M10x1 BAES | See-5411 | -5412
Eﬁﬁé&% FERRT A TR
e e f e AL
TR M12X1.5 AR
}MAEES | $62-7311 -7312 MEES S62-7411 —7412
TRER RN
%gﬁﬁ $62-1321 ~1322
SHEM20X1.5 . SHEAG1/2
F s o
gOms | ok | S62-3321 | 3322 | prmems
SEX BB M10X1.5
M10X1.5 NS ol
BOEGEy | AR MOBRERE | grem
M12X1.75 BASES | S62-5321 -5322 M10x1 BSES | S62-5421 -5422
T fer L Rk Ay RN T far R A TR
a7 M 424y a7 H SR
MIZXTS | meriem G1/4-19 AR
BEES | $62-7321 -7322 MEES S62-7421 7422
TRER RN

www.zs—hyd.com

>> 23




BZZR S £k E¥m ==

SRENFR

Interated Valves pressure grade >>>

OORNENAHEE RE® THME Fi

HE RIS 01 02 03 04 05 06 07 08 09 10
ANAZ£IR) MPa 10 12.5 15 5 No No No No 10 12,5
W (w33 H i MPa 16 18.5 21 12.5 16 18.5 21 235 No No
XX fa) A3 vV % VvV % V V vV Vv No No
PNEEC)] V % VvV VvV vV Vv 4 V V vV
HE M ThEEED 11 12 13 14 15 16 17 18 19 20
AAREH MPa 15 125 11 8 9 115 14 14 6.3 9
WL i MPa No 20 16 14 i5 No No 20 12 No
X [E) 5 No VvV vV vV Vv No No VvV vV No
NEEC L Vv v vV V % 2% vV vV % VvV
HERIIRERD 21 22 23 24 25 26 27 28 29 30
ANAZREIR MPa - No 8 - 9 11 14 17.5
W [ELH E MPa - No No - No No 20 22
UL = No No = No No No
PNEEC) - vV VvV - vV X V

24 << www.zs-hyd.com



EFHBE

Zhaosheng Hydraulic

S

FK/FKS 4B & @3k

FK&FKS Combination Valve Blocks >>

FK/ FKS A4 ifk:

FK [FKSEE R EREL K THERHA®
., AREERERGRHETERIPER,

The FK or FKS valve block is bolted on the
port face of the SCU directly. Its function is to
protect the steering system.

HERAIINEE

OANOZE: REIFEEFPOSTH Z[E
HERAENZE, RIPEEEE,

O W ETHEHE: RIPETERE ARG =EN
TS EXT B BE FNMEL ) B8 7= 4 AOBE IR

O WA . By LML R TS E o e
REFENRERTERNRENR,

ONOEEBE, Bk HEEAhEHESN
STHERADENEBRA~ENTAREZN
M,

RIEDNBERF S
E!___r__iﬁ
B = =
@-ﬂ? f
:£F| O :ﬂf %
hd
L.

Function of the incorporated valve

Inlet safety valve: limits maximum pressure
drop across the SCU to protect the steering circuit.

Cylinder port shock valve: protects hoses
against pressure surge created by ground forces
on the cylinder axle.

Anti—cavitation valve: protects steering circuit
against vacuum (cavitation) conditions.

Inlet check valve: prevents oil from returning
through the SCU when pressure on the cylinder side
is greater than the inlet side. It prevents steering
wheel kick.

www.zs-hyd.com >> 25



BZZZ 3 & RIEH¥ m =

HE WRIMEEZR T

FK&FKS Dimension and Mounting Data >>
1. FK ATZAERER (FK dimension)

20

. , 4410,
N
) z : f? Qﬂ/
SN fany
d@é@ 1 . 1 Y
W = H = | =
s < | | H
_ @y
| \NB/ /4
8 N
2.540.5 < J N :
JE!

2. FKS FFZAREIR (FKS dimension)

94 {3%1] 9%0.5
90%1 3
16|
e —
~ i
:ja \@D\ -1 xz\ 247
/AR
= JE = f “:%% = 5 f?%iﬂi?LL&mI: _
L = S H 2| = s
@) yt7< . .
: W\\\y// \%j
= 1 =B\
= &
2
18 447%0.2

26 << www.zs-hyd.com



EHBE

Zhaosheng Hydraulic

S

TEER

FK&FKS Ordering Information >>

—. @i S (Model Note )

FK—10/16
Sl B B
( FFKSHRSR ) Pressure of overload valve
FK OR FKS
TEREN

Pressure of safe valve

Z. F@m%S (Product code )

FRES RS ZERESD (Mpa) | HHEEHD (MPa) | WaiaER | ADEGR
410-1*32 FK-8/12.5 8 12,5 =) )
410-1*43 FK-10/16 10 16 ) g
410-1*53 FK-12.5/16 12,5 16 =l =l
410-1*64 FK-16/20 16 20 5 g
410-2*03 FK-0/16 x 126 =l =l
410-2*04 FK-0/20 x 20 =] =
411-1*21 FK-6.3/10 6.3 10 =] =l
411-1*22 FK-6.3/12.5 6.3 12.5 ] g
420-1*21 FKS-6.3/10 6.3 10 =] f|
420-1*43 FKS-10/16 10 16 ) =) ‘Q
420-153 | FKS-12.5/16 125 16 A 5 =
420-2*03 FKS-0/16 v 16 <) f E
420-2*04 FKS-0/20 x 20 =] =l
AR .
e RFMOFN, TRMOT.
1———4-M20X15 ;
2-——4-M20X15, “O” KE#OZH ;
3-—--2-M20X1.5; 2-M18X1.5;
4-——4-G12” ;
5———4-M18X15;
6 — — — 4 - M20X1.5, H[ERBLFLAM22X1.5;
7--—-4-3/4-16UNF, “0O” HEHAOZH ;
8 - - -4-9/16-18UNF, “O” EE#OZH;
9---4-G1/2" , BERBLF AM22X1.5, NEHE—MITA;
0---4-M20X15, “O” EE#OZH, BERBLFLAM22X1.5,

www.zs—hyd.com >> 27



BZZZ 5 £k £ 0 =5

FLD HIXI2E 5 it IE

Flow divider valves >>

RE Dividing Flow 185% % Constant Flow

FLDERBEALKZEOREEFEA. HRFRERETUISE TEENRET N BBRIEEQRTHE
HNRRERE. EMTATFRYERRES BT RATHEREMARRS.

BEREMRRZNES . HREMERE,

It is used with the open center SCU.When the system oil flow or pressure is variety,|t can provide
constant flow for the SCU.It can be used in not only independent steering system,but also share a pump
with other operating system.

It includes: dividing flow type and constant flow type.

% E S Hydraulic Symbol BS54 8A: Type Note

=
=N
R
=
=
L

= _.! HERREDRIE

i FLD —[J[J
| | 1 )
| ﬁ; - T ¥ PRER BARER, BREZ
‘L__ . |- i “I *fEm%(L/mm)
—
i

28 << www.zs-hyd.com



EHBE

Zhaosheng Hydraulic

S

FLD HEXF27E 53 i I8

Flow divider valves >>

KR S#: Specification

w2 i REATRE | SETEEAN BRE EAFESEE | RETMAER BE

= L/min MPa L/min MPa % LA e

FLD-6 6 18 BZZ-80

FLD-7.5 75 225 BZZ-100

FLD-15 FLD-9.5 9.5 285 BZZ-125
FLD-12 12 36 BZZ-160

FLD-15 15 45 BZZ-200

FLD-19 19 125 57 63125 - BZZ-250

é o~ . <

FLD-30 FLD-24 24 72 BZZ-315
FLD-30 30 90 BZZ-400

FLD-37.5 37.5 1125 BZZ-500

LD-60 FLD-48 48 144 BZZ-630
FLD-60 60 180 BZZ-800

FLD-75 75 205 BZZ-1000

FLDiZE#£ R ~f: Mounting Data

1l

0 J

FLD

3l

ME | AR [ EER () ey

eXf [0} a| b| c| d| g/ h| 1| k| 1| m
PL-15 | ORL- 0 lugre0 (39 (15479 |57 40 |45 20 |19 |21 |36 |27
PLD-30 | 2MBSKD-2 Tssxea [3-610.5\176[88 |63 45 |53 |30 |20 |25 | 40 |29
FLD-60 | 3METEL-2 Tssxea [3-910.5176[88 163 45 |53 30 |20 |25 | 40 |29

www.zs-hyd.com >> 29



BZZZ 3 & RIE¥ =

T“b -I;I- IR

FLD Ordering Information >>

4 4 %—% % & &

RIRSE ———— — 01.FLD-6
0, ¢15i&F % — 02.FLD-7.5
1, ¢2658f % — 03.FLD-9.5
— 04.FLD-12

1.9 A — 05.FLD-15
3 ERE 0 — 06.FLD-19
. — 07.FLD-24
— 08.FLD-30
1.P O M24X1.5, A, B. T AM20X1.5 — 09.FLD-38

2.P A M27X15, A, B. T 0 M24X1.5 — 10.FLD-48

3P. B A M27X1.5, A, T O M24X1.5 — 11.FLD-60

4P, T. A, B AM27X15 — 12.FLD-75

6.P A M27X1.5, A, B AM24X1.5 — 13.FLD-80

(¢ B5BRERTREM) — 14.FLD-4

- 15.FLD-5

1)440 #351
A FLD-4 FLD-5 FLD-6 FLD-7.5 FLD-9.5 FLD-12 FLD-15
&S - - - - - - B
B -1114 -1115 -1101 -1102 -1103 -1104 -1105
B -3114 -3115 -3101 -3102 -3103 -3104 -3105
ECEH m =% BZZ-50 BZ7-63 BZZ-80 BZZ-100 BZZ-125 BZz-160 BZZ-200

2) 441 %75

#4g | FLD- | FLD- | FLD- | FLD- | FLD- | FLD- | FLD- | FLD- | FLD- | FLD- | FLD- | FLD- | FLD-
L) 6 5 9.5 12 15 19 24 30 38 48 60 75 80

-1201 | -1202 | -1203 | -1204 | -1205 | -1206 | -1207 | -1208 | -1209 | -1210 | -1211 | -1212 | -1213

-3201 | -3202 | -3203 | -3204 | -3205 | -3206 | -3207 | -3208 | -3209 | -3210 | -3211 | -3212 | -3213

1301 | -1302 | -1303 | -1304 | -1305 | -1306 | -1307 | -1308 | -1309 | -1310 | -1311 | -1312 | -1313

441-** | 1401 | -1402 | -1403 | -1404 | -1405 | —1406 | -1407 | -1408 | -1409 | -1410 | -1411 | -1412 | 1413

-2401 | -2402 | -2403 | -2404 | -2405 | -2406 | -2407 | -2408 | -2409 | -2410 | -2411 | -2412 | -2413

-3401 | -3402 | -3403 | -3404 | -3405 | -3406 | —-3407 | -3408 | -3409 | -3410 | -3411 | -3412 | -3413

-3601 | -3602 | -3603 | -3604 | -3605 | -3606 | -3607 | -3608 | -3609 | -3610 | -3611 | -3612 | -3613

[ BZZ- | BZZ- | BZZ- | BZZ- | BZZ- | BZZ- | BZZ- | BZZ- | BZZ- | BZZ- | BZZ- | BZZ-
#ERR 80 100 125 160 200 250 315 400 500 630 800 1000

A WEEFRZERBAEEST 10MPa,=@&ESAE ( LEER)
2)?%Hﬂmﬂm}£h12MPa FRRSMER “A”
NREWBEEI8MPa, FRESMEE “B”
HREWAEES TMPa, =REFESIESR “C”
5)RLRIFAZES 6MPa, =RESINESR “D”
6) L MIBEES 5SMPa, F=RHESMER “E”

30 << www.zs-hyd.com



Je F it

Zhaosheng Hydraulic

S

YXLZ 5tk S B

YXL series priority valve >>>

YXLRFMLER S R A e REEEA,
ARNETREBEEE RS, ERENHTNHHTT
EEERTUNELT, EULERILEERAFR
B, YXL IEREZBATIF S ITENMAREES
R, MXE, BRI, BXBE, EHIK
KA.

YXL priority valve is used with BZZ load sensing steering units, to form a load sensing power steering
control system. That can always give priority to flow to steering systems, in cases that system load varies
or steering wheel speed varies. YXL series priority valve has been used in many mobile hydraulic control
systems, such as forklift, wheel loader, wheel crane, and tractor and agriculture harvester.

% E#55: Hydraulic Symbol FIZ5EEH: Type Note

DYXL-F OoO—0oOQ

L (|
5
________ o L*}BHDEERE
‘ l 12§ Sbar
‘ ’ | BT N—ﬁﬁ
~/ _ | W—5ME

R BIEEE IMPa

— = LIREE
FE2EE

BRANORE (L/min)
RAANAKSI20MPa
R RETE SR
HEES (REH

BSES)

Y XL

www.zs-hyd.com >> 31



BZZZ 3 & RIE¥ =

SR IMZZEZER T

YXL Dimension and Mounting Data >>2

YXL-F160L | =

A

)
™

Br 0 ‘
70 53 60

110
s N CF N
- 28T BUR IR BUR (280 BOR
A M27X2 M22X1.5 M12X1.5
B G3/4 G1/2 G1/4
c 1-1/16-12UN 3/4-16UNF 7/16-20UNF
O-ring 20 O-ring 18 O-ring 14
M27X2 M22X1.5
D O-ring O-ring M12X1.5
E 1-1/16-12UN 3/4-16UNF 7/16—20UNF
YXL-F250F
81.5
e IA 068
L4l RTERLAN S 43816 =
gt 11}
A =
¥ n‘j ¢ -
il C’@ T
am G SR e ATCY H
- N
A | | " o
1§ [ |
N124, 568 5 A33*2-6¢
3.8
A

58,7 4-U10-68
: FALFRKN B3I

&

453

32 << www.zs-hyd.com



EFHBE

Zhaosheng Hydraulic

S

¥ @

Steering Columns >>

B EEAREMEEROTH.
It is used to connect the SCU with
the steering wheel.

ZXZ #&E# Rt Installation Drawing

o 46%0.1

$19.820
ki3
A

LLQ
Nl6xl.5

9.5'%%

e S om s e B o= =

{\//f | »’“\\ A—4
| ST SRS
\%V | KPZ\ 90 h\.\%\ ll/_{:l‘éj( 12
» 36841 Ehf 30
1 — 3= ) h et #16/3)
. THER | 19.05 o
@ ! A HAER 9 16.498
N | Y HOEER | ¢20.2 =
1= E
WREER] ¢17.3 oy
58£0.2
84

www.zs—hyd.com




BZZZ 3 & RIE¥ H =

%8 o] 417 £5 15t AR

Steering column ordering information  >>

602 - 1200
RIS — L RS
FRES = A
600-1101 #E112, BEMI6X1.5, FRZ=AEEES, HinmkkEiKmEo.5, KE235,
i AR 2 E R TERS3.5
600-1105 HE112, BEM16X1.5, TEE=AERES, MnRLERES, KE450,
Hhin AR EI E R IARS3.5
600-1116 H#E112, BEMI6X1.5, HTRE=HLRES, HMinmLIKEIS5, KET785,
AR E| E R MRS, 67LiE=
600-1137 HE112, BEM16X1.5, HEE=AERES, HMinmHLEKE.5, KE770,
inERE| E R NERYS, 6FLE=
600-1139 HE1:12, 88 8M16X1.5, 770 £ = AIEEIEL ihik k2 #%9.5,1 E650,
Hm PR B TNAS3.5, mWU\L, EEZE4mm
600-1141 H®E112, BEMI6X15, HEE=ALRES, HinRLEKE.5, KE530,
Him AP E| B TARSS
6001146 HE112, BEMI6X15, HEE=AERERE, HWiKRLERE.5, KES40,
HhimERE| E R TNARS3.5
600-1153 H®E12, BEMI6X1.5, TRE=AERES, HMinmRLEKE.5, KE240,
HIm AP E| BB TARSS
600-1154 H®E12, BEMI6X1.5, TRE=ALRES, MinRLEHKE.S5, KE280,
HH AP E B TARSS
600-1166 H®E12, BEMI6X1.5, TTRE=ALRES, HMinRLEHKE.5, KE35S,
HhinAREI E R TNARS3.5
600-1212 H|E112, BEMI6X1.5, HEE=ALRES, HMinBLEKE.5, KET750,
iR AREI E R TNARSS.5 , HRIY\ L
600-1213 WE112, BEM16X1.5, ARB=AERES, HinRLEHRE.5, KE760,
Hiim AP E| B TAR113.5, MU\
600-1215 H®E112, BEMI6X15, HEE=AERES, HimRLEHKE0.5, KE775,
Him AR R E R TNARSS.5, H I\ Z&
600-1216 H®E112, BEMI6X15, HRE=HERES, MHMnRkEiK®EI.5, KET785,
Hin AR R E R TNARS3.5
600-1231 H|E112, BEMI6X1.5, TRE=ALRES, HMinRLEIKE.S, KES05,
Hhinm AR E| E R IAR49

E: 1, HERS AR BrEEAE KRR
2. MBEHHRERIES] KEKFR,

34 << www.zs-hyd.com



RHARE

Zhaosheng Hydraulic

S

REEM T m—ER&REDIE

Our other products—brbital Hydraulic Motor >>>

BM1 BM2 BM3

BM4 BM5 BM6

ERDE BHLDE w5k

www.zs—hyd.com >> 35



XA REHA 2R

Responsibility Integrity Make Excellence

BB BT EH &

Scientific And Technological Innovation Create Quality

WA ZRENRBIRL Hebei Zhaosheng Hydraulic Machinery Co.,Ltd
itk TEEXREHEIVERX Add: Dalu District, Ningjin, Hebei province, China
FE1%: +86-0319-5666766 Tel: +86-0319-5666766

£HE: +86-0319-5669088 Fax: +86-0319-5669088

Mk http://www.zs—hyd.com Web: http:/www.zs—hyd.com/English/

BR$4: sales@zs-hyd.com E-mail: info@zs-hyd.com

B4 : 055550 P.C.: 055550



